
 

Array Model                  Area Model 

                             

 

                 (6 x 10) + (6 x 8)              

                 60 + 48= 108 
                                            6 x 18= 108 

Partial Products   Open Area Model 
     48                                      48 x 26 = 

 X 26                                      40              +            8            
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  240   6 x 40                                  +                            

  160   20 x 8    6 
  800  20 x 40         800 + 240 + 160 + 48 = 1,248 
1,248                                     48 x 26 = 1,248 

20 x 40 = 800  20 x 8 =160  

6 x 40 = 240 6 x 8 = 48


